

Penthouse in St Paul's Bay



St Paul's Bay, North



€650,000

Reference No: 240291001-3396

 Total Rooms: **6**

 Floor Area (m²) : **101**

 Bathrooms: **1**

 Bedrooms: **2**

Penthouse - For Sale - St Paul's Bay

ST.PAUL'S BAY - Fifth Floor Penthouse, having sea views and country views. This property is being sold in a standard finished state and freehold. Layout comprises of an open-plan kitchen,living,dining with front terrace having sea views, a guest bathroom, box room, and two bedrooms. The main bedroom enjoys a back terrace with country views. Also complimenting this property is the Airspace. Property has just been built and is being finished.

Features

- ✓ Entrance Hall
- ✓ Terrace
- ✓ Pool
- ✓ Air Space

Rooms

- ✓ Single Bedroom : 4.3 x 3.9 m (16.77 m2)
- ✓ Single Bedroom : 2.9 x 2.6 m (7.54 m2)
- ✓ Hall : 8.4 x 1.25 m (10.5 m2)
- ✓ Bathroom : 3 x 1.55 m (4.65 m2)
- ✓ Box Room : 1.9 x 1.6 m (3.04 m2)
- ✓ Living : 4.3 x 2 m (8.6 m2)
- ✓ Kitchen/Dining : 4.5 x 3 m (13.5 m2)

Gallery





RE/MAX North - Qawra

RE/MAX North - Qawra

M: 21585844

E: qwr@remax.com.mt

T: 21585844

RE/MAX North - Qawra

Dawret il-Gzejjer, Qawra, St Paul's Bay, Malta